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QUESTION 1

Which actions can you perform with an SAP HANA calculation view that has the DIMENSION data
category assigned?

Note: There are 2 correct answers to this question.

A. Join serveral tables.

B. Define text joins.

C. Persist master data.

D. Aggregate measures.

Correct Answer: AB

QUESTION 2

For which of the following revenue reporting requirements do you create restricted key figures?
A. Convert revenue into a number without currency.

B. Identify the top five countries by revenue for each month.

C. Determine the average revenue per customer.

D. Compare this year\\'s planned revenue with last year\\'s actual revenue.

Correct Answer: D

QUESTION 3

Which of the following are strengths of SAP S/4AHANA embedded analytics? Note: There are 2 correct answers to this
guestion.

A. Operational data is accessed in real time.

B. Redundant data is reduced.

C. Cross-system consistency is generated.

D. Historical data for strategic decisions is stored.

Correct Answer: AB

QUESTION 4
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How do you enable streaming mode for a process chain?

A. Navigate to Process Chain Maintenance (RSPC). Select Streaming Mode in the process chain attributes.
B. Navigate to Customizing (SPRO). Change the general settings for SAP BW/4HANA.

C. Navigate to Modeling DW Workbench (RSA1). Activate streaming mode on the Current Settings Folder tab.
D. Navigate to Process Chain Maintenance (RSPC). Add a new process variant for streaming mode.

Correct Answer: A

QUESTION 5

Which layers are part of the layered scalable architecture for SAP BW/4HANA (LSA++)? Note: There are 2 correct
answers to this question.

A. Open Operational Data Store
B. Native SAP HANA data mart
C. Virtual data mart

D. Source system

Correct Answer: AC

QUESTION 6

You identified a variable that is based on time characteristic OCALMONTH and returns the current quarter. Which offset
do you need to retrieve the corresponding quarter of the previous year?

A.-12
B.-4
C.-1
D.-3

Correct Answer: A

QUESTION 7

Your main BW query contains a characteristic value variable with a replacement path from a query. When is the pre-
query executed?

A. Each time the main query is executed, before the filter values are applied.

B. Each time the main query is executed, after the filter values are applied.
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C. Directly after a predefined broadcasting event was triggered to calculate the pre-query.
D. Directly after data is loaded to the InfoProvider of the pre-query.

Correct Answer: A

QUESTION 8

You need to integrate data from several SAP systems and non-SAP systems to support real-time analytics. Why do you
recommend the SAP Landscape Transformation (SLT) Replication Server for real-time data replication into SAP
HANA?

A. The SLT Replication Server provides flexible multisystem support to manage data replication from SAP and non-SAP
source systems.

B. The SLT Replication Server provides log reader adapters for SAP and non-SAP sources.
C. The SLT Replication Server installed on a productive SAP BW/4HANA system improves the data transfer process.
D. Replication Server installation and configuration is always identical for SAP and non-SAP source systems.

Correct Answer: A

QUESTION 9

You create a DataStore object (advanced) using model template Standard DataStore Object. Which flags
are set?

Note: There are 2 correct answers to this question.

A. Activate Data

B. Write Change Log

C. All Characteristics are Key

D. Unique Data Records

Correct Answer: AB

QUESTION 10

You define a new generic DataSource in SAP ERP with A time stamp as the delta characteristic A value for the Safety
interval Lower Limit A new status for changed records.

How does this impact how you model the data target in SAP BW/4HANA? Note: There are 2 correct answers to this
guestion.

A. The data target must be able to manage duplicate records.
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B. The data target can be a DataStore object (advanced) of the Standard DataStore Object model template.
C. The data target can be a DataStore object (advanced) of the InfoCube model template.
D. The data target must be modeled with a characteristic for the safety interval.

Correct Answer: AB

QUESTION 11

Which of the following methods supports the SAP HANA data virtualization approach with OBDC technology?
A. SAP HANA smart data access

B. SAP HANA smart data integration

C. SAP Landscape Transformation Replication Server

D. SAP Data Services

Correct Answer: A

QUESTION 12

You use the wizard to create an SAP BW/4HANA Big Data source system. Which activities are mandatory? Note: There
are 3 correct answers to this question.

A. Specify connection type Big Data.
B. Select a database object schema.
C. Specify business content type.

D. Specify release type.

E. Select a remote source.

Correct Answer: ABE

QUESTION 13

Which SAP BW/4HANA features support the code-to-data principle? Note: There are 3 correct answers to this
guestion.

A. SAP HANA models as part providers in CompositeProviders
B. ABAP Managed Database Procedures in an SAP BW/4HANA transformation
C. Query settings fo read near-line storage data

D. Activation of a DataStore object (advanced)
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E. Global transfer routines for master data harmonization

Correct Answer: BCE

QUESTION 14

Why can tasks be executed faster if the application uses SAP HANA as a database?
A. The application layer takes over tasks of the database layer.

B. The database layer takes over tasks of the application layer.

C. The user interface layer takes over tasks of the application layer.

D. The application layer takes over tasks of the user interface layer.

Correct Answer: B

QUESTION 15

You want to use the SAP HANA concept of semantic types as part of the currency conversion mechanism. You decide
to use semantic type Amount with Currency Code within your SAP HANA calculation view. Which currency reference
can be assigned to the measure? Note: There are 3 correct answers to this question.

A. A fixed currency

B. A currency from a currency conversion

C. A currency from another column

D. A currency from an SAP HANA content calculation view

E. A currency from SAP BW customizing

Correct Answer: ACE
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